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SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
oA g 679,304 833,227 153,923
WA AR FHI 439,935 584,403 144,468
XX 85 Al 117,165 131,461 A 14,296
cE8 #Z Iy 49,344 53,350 £ 4,006
101 Q121 b 37,544 38,850 A 1,306
04 JIAHIERSE S 37,544 38,850 A1,306
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68,7202 +8% * 132 7,147 8,247 A1,100
OB B2 X4 Q12Y 68,7202 «6% +8L 3,299 3,505 A206
206 T & bl 11,800 14,500 £2,700
01 MZHI 11,800 14,500 £2,700
OZUZH U RS FH |2 7Y
1,500% +3,2002 4,800 7,500 £2,700
zz==s% 1 2,749 6,872 ~4,123
101 Q121 dl 2,749 6,872 ~4,123
04 JIAHH2ENSE S 2,749 6,872 ~4,123
ozzssy el 68,7202 * 1% x22 %205 2,749 6,872 ~4,123
=352 el 33,337 39,504 ~6,167
101 Q121 bl 11,477 13,744 ~2,267
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206 M 2 bl 500 2,000 A 1,500
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Zoisen 2ABAN =X 0 141,172 A141,172
R0Pts 23ES 0 6,000 6,000
307 212+0| ® 0 6,000 6,000
04 BIZFSHALALY 2 = 0 6,000 26,000
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HE23 Aot 0 1,300 A1,300
301 BB HZ 0 1,300 A1,300
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A O AN
CHel: UXEE o (et @ e)
SAH-AH -2 (SA) - HREAY - BES 0] AFoH Iy H HnE2
CHOHE 786,837 830, 144 A 43,307
CHOF A ZHI 553,889 597,196 A43,307
XS As 131,941 144,473 A12,532
=0 B 5,568 10, 100 A4,532
301 YBtE &2 5,568 10, 100 A4,532
09 BAIAHIXI &2 5,568 10, 100 A4,532
OHIL DS 2 ZH3 & 24 1,000 2,100 A1,100
OHA2Y IHEA =& S 4,568 8,000 N3,432
R F=H FHH ALY 60,822 68,822 A8,000
201 Y| 1,200 9,200 28,000
01 AL 22| H 0 8,000 A8,000
OEHE A H2IHY StEA L Eoa ARt 0 6,000 A6,000
- stz 0 4,000 A4,000
— Eolal 0 2,000 A2,000
OEE A& s H =2 29 4223 0 2,000 A 2,000
=058 23t AL =X 86,726 117,501 A30,775
Ot 238s I 0 6,000 26,000
307 gl12+0| & 0 6,000 26,000
04 DIZFHAFALSY B X 0 6,000 26,000
OFOIIE 2SS S AN 0 6,000 A6,000
HE235 AlA 0 1,300 21,300
301 YBtE® 2 0 1,300 21,300
09 BAIAHIXI 22 0 1,300 21,300
OQl&=H)| HABA(SHRH) 0 1,300 A1,300
235 ®MAlB 7,375 25,650 A 18,275
101 Q1A H 0 3,436 NA3,436
04 JIZtRIZR2XNEE2 3,436 A3,436
OFAIE 2354l el 0 3,436 A3,436
201 22| 0 10,339 A10,339
01 At 2t2lH 0 10,339 A 10,339
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OFAl HE &X 0 1,000 A1,000
OYAGHEA AXt 0 3,000 23,000
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O8O&a= XA 0 1,500 A 1,500
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201 ¢er24| 0 3,200 A 3,200
01 At 2t2l bl 0 2,200 22,200
OXOHZH A (=02 HEEA) SR 0 2,200 22,200
03 &Ar2 I 0 1,000 A 1,000
OXZHE WFHA S 28| 0 1,000 1,000
301 LeEAF 0 2,000 A 2,000
09 AL HI K& = 0 2,000 A 2,000
OA&E3s N H WIAA 0 2,000 A2,000
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N & 0l & Av S Z M A
2M: 229
M 24H A
ool MXBY A (eol:@e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
=2 714,813 770,582 A 55,769
S8 A3 537,712 593,481 A55,769
TxHEy A 72,672 75,909 A3,237
ST 2 10,574 13,811 A 3,237
101 @14l 3,574 4,811 N 1,237
04 JI2ZtHZ22HEE =+ 3,574 4,811 A1,237
O3s==8 2 68,7203 x1H 2L x26F 3,574 4,811 A1,237
201 L Er2 A | 7,000 9,000 A 2,000
02 =24l 4,000 6,000 A 2,000
O232= % HAl SN A4 4,000 6,000 A 2,000
F0lgtett 23t AL =& 0 11,300 A 11,300
HOotot= 2stgs N& 0 6,000 A 6,000
307 21201 & 0 6,000 A 6,000
04 RIZHHALAIH 2 & 0 6,000 A 6,000
OOt 2stas S HAXA 0 6,000 A 6,000
HEE3 AlA 0 1,300 A 1,300
301 LEEAS 0 1,300 A1,300
09 HALAMHIXI &3 0 1,300 A 1,300
Ogxg)| EAIBA(H22H) 0 1,300 A 1,300
KHOHZ &AL 0 4,000 A 4,000
301 LA SF 0 4,000 A 4,000
09 AL HIXI& 3 0 4,000 A 4,000
OKNZSAl 27 SS THZEA A 0 4,000 A4,000
XSO At 465,040 506,272 A41,232
22X F| 139,172 180,404 A41,232
101 @124l 134,342 175,574 A41,232
04 JIZHHNZ22XNHSE+ 134,342 175,574 A41,232
O& Mzt EAX 2| ¥ dMREH 88,023 123,757 N35,734
—EUM F=H 68,720 x 12 40 32,986 68,720 A 35,734
O&fAtst AT =0 2 AaXd 37,109 42,607 A5,498
—=54 68,7202 *30H 10 20,616 26,114 A5,498
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2N 2NE
M ZAHE AFZ
ool RXBH A CERED
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-E" Hl DS 2
Rags el 777,173 788,777 A 11,604
MY AHS B 591,400 603,004 A 11,604
TUXHEHAS 75,023 77,327 22,304
AAsgEiid X 0 2,304 A 2,304
301 LPEAZF 0 2,304 A2,304
04 A2 LHUHAHXA 0 2,304 22,304
ONSLHUHIY OFAlHI 0 2,304 A 2,304
QSN2 A=A 2,200 11,500 29,300
ROt 2stgs XA 0 6,000 A 6,000
307 21201 A 0 6,000 A 6,000
04 QIZFHALAIE B = 0 6,000 A 6,000
OO0l 2stgs S HAXAE 0 6,000 A 6,000
HdS23 Al 0 1,300 A 1,300
301 LA F 0 1,300 A 1,300
09 SALEHIX A S 0 1,300 A 1,300
Oz )| EIB2A(H22H) 0 1,300 A 1,300
KHOHZ H ALY 2,200 4,200 A2,000
301 LBEHZ 0 2,000 A2,000
09 HALAHIX A S 0 2,000 A2,000
OXOHZ & S#AFE(DAA BHA2S) 0 2,000 22,000
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=g H AHZ 2 502,291 519,938 AT ,647
TxHEy A 111,295 117,842 AB,547
=Xsl2 el 23,327 29,874 A6,547
101 @14l 8,683 15,230 NG, 547
04 JI2ZtHZ22HEE =+ 8,683 15,230 A6,547
O=Xlg2 2el 4,449 10,996 AB,547
=Sl 23 = 51,112 62,212 A 11,100
oot 2as N 0 6,000 A 6,000
307 glztol & 0 6,000 A 6,000
04 QIZ2HSHALALSE B £ 0 6,000 A 6,000
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AHOH Z2 & ALY 0 5,100 A5,100
201 LEr2A | 0 3,100 A 3,100
01 At 2t2l bl 0 1,100 A 1,100
OXOHZH A (=s4t2 HEEA) IS X 0 1,100 A 1,100
03 &Ar2 I 0 2,000 A 2,000
OXZHE WFHA S 2G| 0 2,000 A2,000
301 LeEBAF 0 2,000 A 2,000

09 A& HI X 0 2,000 A2,000

23
ONMZS DRUAN Ha 24 0 2,000 A2,000
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